Hi KOKI

oo oA W N P

© oo ~N

10
10
11
12
13
14
15
16
17
18
20
21
22
23
24
25
26A
28
29
30
32
34
35
35
36
37
38
39

Artikel

307028 TAPPING SCREW (W/FLANGE) D4X25 (BLACK)
301944 PUSHING BUTTON

332529 GEAR COVER ASS'Y

309191 SPECIAL NUT M6

628VVC BALL BEARING 628VVC2PS-L

327887 BEARING HOLDER

360891C ARMATURE 110 VOLT

360891F ARMATURE 230 VOLT

332527 FAN GUIDE

982021 HEX. HD. TAPPING SCREW D4X70

340771B STATOR 110 VOLT

340771J STATOR 230-240 VOLT

321722 DUST SEAL

626VVM BALL BEARING 626VVMC2ERPS2S

309929 RUBBER BUSHING

301943 LOCK PIN

987201 SEAL LOCK SCREW M4X10 (W/SP WASHER)
316490 BEARING COVER

6201VV BALL BEARING 6201VVCMPS2L

301946 FELT PACKING

987203 SEAL LOCK SCREW M4X12 (W/SP WASHER)
302047 WOODRUFF KEY

332536 SPINDLE

308386 MACHINE SCREW M5X16

301949 SET PLATE

331766 WHEEL GUARD ASS'Y

334456 WHEEL WASHER (C) (OLD 9379282)
937923P WHEEL NUT 5/8"-11UNC

327888 GEAR ASSA'Y (OLD 327889/327890)

332525 HOUSING ASS'Y

959140 CONNECTOR 50091 (10 PCS.)

938307 PILLAR TERMINAL

332524 TAIL COVER (B)

332523 TAIL COVER (B)

305490 TAPPING SCREW D4X30 (W/FLANGE) BLACK
301653 TAPPING SCREW (W/FLANGE) D4X20 (BLACK)
305499 MACHINE SCREW (W/WASHER) M3,5X6
314603 SWITCH (1P SOLDER TYPE)

Onderdelen voor

Aantal gebruikt
4
1

Pagina 1/3




Hi KOKI

40
43
44
47
48

49A
50
51
52
53
54
55
56
57
57
58
59
60
61
61
62
62
62
62

501

502

612

Artikel

317491 NOISE SUPPRESSOR

980063 TERMINAL

937631 CORD CLIP

999005 CARBON BRUSH (1 PAIR)

328210 TAPPING SCREW D3X8

333844 BRUSH HOLDER

332531 SPRING

333136

332581

314429 SPRING

332580

332530

332582

332521 TAIL COVER (A)

332522 TAIL COVER (A)

332534 SPRING (A)

332535 PIN D2.5

332533 PUSHING BUTTON

938051 CORD ARMOR D10.1

953327 CORD ARMOR D8.8

5004352 CORD 2,5M 2 X 1.0 HO5VV-F W/PLUG 13A/250V GBR
500240Z CORD FOR USA/CAN

500461Z CORD 3M 2 X 1,0 HO5VV-F W/PLUG 16A CEE FORM 2P+E FOR GBR
500447Z CORD 2,5M 2 X 1.0 HO5VV-F (OLD 500395Z)
313933 WRENCH

318312 SIDE HANDLE

9378262 WASHER NUT

Onderdelen voor

Aantal gebruikt

1

Pagina 2/3




Rev.4

Pagina 3/3



